Ref:1545_131021

2022-2023



Ref:1545_131021

1 < 605x287x30 MM X1 117 17 320X320X5 MM X1 11
2 460x310x20 MM X1 17 18 N 150X38X11 MM X1 1
3 460x310x20 MM X1 117 19 @ 120x95x25 MM X4 11
4 605x287x30 MM X1 1" 20 70X25X25 MM X2 11
5 745X50X50 MM X1 117 21 %& 490X340X70 MM | X 2 1
Left and right
6 745X50X50 MM X1 1 22 610X150X225 MM | X 1 1
7 80X80X50 MM X2 1M 23 , 80X30X25 MM X2 11
8 695X50X50 MM X1 117 24 270X85X19 MM X1 1
9 695X50X50 MM X1 117 25 25X25X5 MM X4 1M
10 610X440X26 MM | X 1 17 26 80X33X40 MM X1 11
1 \ 490X8.7X8.7MM | X1 11N 27 600X458X35 MM X1 N
12 170X170X50 MM | X 2 11 28 200X85X190 MM X1 11
13 123X123X33 MM | X 2 117 29 615X310X25 MM | X 1 11
14 620X380X45MM | X1 17 30 280X415X5 MM X2 1M
15 240X38X11 MM X1 17 31 80X35X25 MM X1 11
16 80X23X30 MM X1 11N 32 75X75X38 MM X1 1N
A @ M6X12 MM X 29 11 I M10 MM X2 11
B @ | mexasmm X4 11 J NA X2 11
c @ M6X45 MM X4 111 K NA X3 11
E @ M5X16 MM X4 11 L D6 MM X 13 11
F @ M5X28 MM X2 17 M D6 MM X13 1M
G @ M6 MM X8 11 N M5X28 MM X1 111
H M6 MM X9 11




Ref:1545_131021

FR : SAV/INFORMATION /VIDEO/CONTACT

EN: AFTER-SALES SERVICE/INFORMATION/VIDEO/CONTACT

DE : REPARATUR-SERVICE UND ERSATZTEILE /INFORMATIONEN /VIDEO/KONTAKT
ES: SERVICIO POST-VENTA/INFORMACI N/VIDEO/CONTACTO

IT: SERVIZIO ASSISTENZA/INFORMAZIONI/VIDEO/CONTATTO

PT: SERVICO P S-VENDA/INFORMAGCOES/VIDEO/CONTATO

PL: SERWIS TECHNICZNY/INFORMACJE/WIDEO/KONTAKT

NE: AFTER SALES SERVICE/INFORMATIE/VIDEO/CONTACT

HE: 78N wAm m>un/n 1y /A niy/npwn yo



Ref:1545_131021




Ref:1545_131021

Step 1

Step 2




Ref:1545_131021

Step 3

Step 4

A (Right Front
8 /Avancer a d

—

5(Left Front b
/Avant gauche) |||~/

(Left Back A
/Laisser derriere)

———

(Right Back
/Arriere droit))
9




Ref:1545_131021

Step 5

Step 6




Ref:1545_131021

Step 7

Step 8




Ref:1545_131021

Step 9

Step 10




Ref:1545_131021

Step 11

Step 12




Ref:1545_131021

Step 13

Step 14




Ref:1545_131021

Step 15

Step 16




Ref:1545_131021

Step 17




Ref:1545_131021

Step 19

Step 20




Ref:1545_131021

Step 21

Step 22




Ref:1545_131021

Step 23

27
25
28

Step 24
















